

SCHEDULE 1 – PUBLIC OFF-STREET CAR PARKS

1. Name of car park	2. Number of bays / spaces	3. Class of vehicle	4. Time of operation	5. Charging hours	6. Maximum stay	7. Scale of charges
Bond Street (Pay and Display)	14 spaces including 1 Disabled space	Up to 3500kg GVW	7 days per week. 24 hours per day.	08:00 to 20:00	17 hours. Maximum stay during charging hours = 5 hours. No return within 1 hour if doing so would exceed the maximum stay.	Up to 1 hour = £1.40 Up to 2 hours = £2.80 Up to 3 hours = £4.20 Up to 4 hours = £5.60 Up to 5 hours = £7.00 Disabled badge holders = 3 hours free parking using badge and disc in designated disabled space.

1. Name of car park	2. Number of bays / spaces	3. Class of vehicle	4. Time of operation	5. Charging hours	6. Maximum stay	7. Scale of charges
Crown (Pay on Foot)	536 marked bays including 28 Disabled bays and 28 bays for electric vehicles	Up to 3500kg GVW Electric vehicles only in bays signed for electric vehicles. Maximum height = 2.1m/7'0"	7 days per week. 24 hours per day.	08:00 to 23:30 (Mon – Sat) & 08:00 to 20:00 (Sun).	17 hours. Maximum stay during charging hours = 5 hours. No return within 1 hour if doing so would exceed the maximum stay.	<p><u>Daytime tariff (applies from 08:00 to 19:59 every day)</u></p> <p>Up to 1 hour = £1.40 Up to 2 hours = £2.80 Up to 3 hours = £4.20 Up to 4 hours = £5.60 Up to 5 hours = £7.00</p> <p><u>Evening tariff (applies from 20:00 to 23:30 Monday to Saturday) = £1.00</u></p> <p><u>Other charges (at all times)</u></p> <p>Parking stays that overlap the daytime and evening tariffs shall be charged as the relevant combination of both.</p> <p>Lost ticket = £15</p> <p>Exceeding maximum stay = £25</p> <p>Disabled badge holders = 3 hours free parking using badge and disc in designated disabled space.</p>

1. Name of car park	2. Number of bays / spaces	3. Class of vehicle	4. Time of operation	5. Charging hours	6. Maximum stay	7. Scale of charges
Crown	17 marked bays	Motor Cycles	7 days per week. 24 hours per day.	08:00 to 23:30 (Mon – Sat) & 08:00 to 20:00 (Sun)	17 hours. Maximum stay during charging hours = 5 hours. No return within 1 hour if doing so would exceed the maximum stay.	Free of charge for motor cycles.

1. Name of car park	2. Number of bays / spaces	3. Class of vehicle	4. Time of operation	5. Charging hours	6. Maximum stay	7. Scale of charges
Elm Street (Pay and Display)	68 marked bays including 4 Disabled bays and 2 bays for electric vehicles	Up to 3500kg GVW Electric vehicles only in bays signed for electric vehicles.	7 days per week. 24 hours per day.	08:00 to 20:00	17 hours. Maximum stay during charging hours = 5 hours. No return within 1 hour if doing so would exceed the maximum stay.	Up to 1 hour = £1.40 Up to 2 hours = £2.80 Up to 3 hours = £4.20 Up to 4 hours = £5.60 Up to 5 hours = £7.00 Disabled badge holders = 3 hours free parking using badge and disc in designated disabled space.
Elm Street (Pay and Display)	Up to 2 marked bays	Motor Cycles	7 days per week. 24 hours per day.	08:00 to 20:00	17 hours. Maximum stay during charging hours = 5 hours. No return within 1 hour if doing so would exceed the maximum stay.	Free of charge for motor cycles.

1. Name of car park	2. Number of bays / spaces	3. Class of vehicle	4. Time of operation	5. Charging hours	6. Maximum stay	7. Scale of charges
Regent (Pay and Display)	73 marked bays including 5 Disabled bays	Up to 3500kg GVW	7 days per week. 24 hours per day.	08:00 to 20:00	17 hours. Maximum stay during charging hours = 5 hours. No return within 1 hour if doing so would exceed the maximum stay.	Up to 1 hour = £1.40 Up to 2 hours = £2.80 Up to 3 hours = £4.20 Up to 4 hours = £5.60 Up to 5 hours = £7.00 Disabled badge holders = 3 hours free parking using badge and disc in designated disabled space.
Regent (Pay and Display)	2 marked bays	Motor Cycles	7 days per week. 24 hours per day.	08:00 to 20:00	17 hours. Maximum stay during charging hours = 5 hours. No return within 1 hour if doing so would exceed the maximum stay.	Free of charge for motor cycles.

1. Name of car park	2. Number of bays / spaces	3. Class of vehicle	4. Time of operation	5. Charging hours	6. Maximum stay	7. Scale of charges
St. Peter's Dock (Pay and Display)	Up to 121 spaces including 7 Disabled spaces	Up to 3500kg GVW	7 days per week. 24 hours per day.	08:00 to 20:00	17 hours. Maximum stay during charging hours = 5 hours. No return within 1 hour if doing so would exceed the maximum stay.	Up to 1 hour = £1.40 Up to 2 hours = £2.80 Up to 3 hours = £4.20 Up to 4 hours = £5.60 Up to 5 hours = £7.00 Disabled badge holders = 3 hours free parking using badge and disc in designated disabled space.
St. Peter's Dock (Pay and Display)	Up to 6 spaces	Motor Cycles	7 days per week. 24 hours per day.	08:00 to 20:00	17 hours. Maximum stay during charging hours = 5 hours. No return within 1 hour if doing so would exceed the maximum stay.	Free of charge for motor cycles.

1. Name of car park	2. Number of bays / spaces	3. Class of vehicle	4. Time of operation	5. Charging hours	6. Maximum stay	7. Scale of charges
Upper Orwell Street (North) (Pay and Display)	59 marked bays including 3 Disabled bays and 4 bays for electric vehicles	Up to 3500kg GVW Electric vehicles only in bays signed for electric vehicles.	7 days per week. 24 hours per day.	08:00 to 20:00	17 hours. Maximum stay during charging hours = 5 hours. No return within 1 hour if doing so would exceed the maximum stay.	Up to 1 hour = £1.40 Up to 2 hours = £2.80 Up to 3 hours = £4.20 Up to 4 hours = £5.60 Up to 5 hours = £7.00 Disabled badge holders = 3 hours free parking using badge and disc in designated disabled space.
Upper Orwell Street (North) (Pay and Display)	4 marked bays	Motor Cycles	7 days per week. 24 hours per day.	08:00 to 20:00	17 hours. Maximum stay during charging hours = 5 hours. No return within 1 hour if doing so would exceed the maximum stay.	Free of charge for motor cycles.

1. Name of car park	2. Number of bays / spaces	3. Class of vehicle	4. Time of operation	5. Charging hours	6. Maximum stay	7. Scale of charges
Upper Orwell Street (South) (Pay and Display)	38 marked bays including 3 Disabled bays	Up to 3500kg GVW	7 days per week. 24 hours per day.	08:00 to 20:00	17 hours. Maximum stay during charging hours = 5 hours. No return within 1 hour if doing so would exceed the maximum stay.	Up to 1 hour = £1.40 Up to 2 hours = £2.80 Up to 3 hours = £4.20 Up to 4 hours = £5.60 Up to 5 hours = £7.00 Disabled badge holders = 3 hours free parking using badge and disc in designated disabled space.
Upper Orwell Street (South) (Pay and Display)	1 marked bay providing 2 spaces	Motor Cycles	7 days per week. 24 hours per day.	08:00 to 20:00	17 hours. Maximum stay during charging hours = 5 hours. No return within 1 hour if doing so would exceed the maximum stay.	Free of charge for motor cycles.

1. Name of car park	2. Number of bays / spaces	3. Class of vehicle	4. Time of operation	5. Charging hours	6. Maximum stay	7. Scale of charges
William Street (Pay and Display)	77 marked bays including 3 Disabled bays	Up to 3500kg GVW	7 days per week. 24 hours per day.	08:00 to 20:00	17 hours. Maximum stay during charging hours = 5 hours. No return within 1 hour if doing so would exceed the maximum stay.	Up to 1 hour = £1.40 Up to 2 hours = £2.80 Up to 3 hours = £4.20 Up to 4 hours = £5.60 Up to 5 hours = £7.00 Disabled badge holders = 3 hours free parking using badge and disc in designated disabled space.
Fore Street (Pay and Display)	30 marked bays including 2 Disabled bays	Up to 3500kg GVW	7 days per week. 24 hours per day.	08:00 to 20:00	17 hours (except for holders of a valid season ticket). Maximum stay during charging hours = 5 hours (except for holders of a valid season ticket). No return within 1 hour if doing so would exceed the maximum stay.	Up to 30 minutes = £0.60 Up to 1 hour = £1.20 Up to 2 hours = £2.40 Up to 3 hours = £3.60 Up to 4 hours = £4.80 Up to 5 hours = £5.50 Disabled badge holders = 3 hours free parking using badge and disc in designated disabled space. <u>Season tickets (only available to local residents or businesses within the zone shown in Schedule 5):</u> 12 months (valid 18:00 to 08:00 Monday to Friday and all day on Saturdays, Sundays and Bank Holidays) = £307.

1. Name of car park	2. Number of bays / spaces	3. Class of vehicle	4. Time of operation	5. Charging hours	6. Maximum stay	7. Scale of charges
Fore Street (Pay and Display)	1 marked bay providing 2 spaces	Motor Cycles	7 days per week. 24 hours per day.	08:00 to 20:00	17 hours. Maximum stay during charging hours = 5 hours. No return within 1 hour if doing so would exceed the maximum stay.	Free of charge for motor cycles.

1. Name of car park	2. Number of bays / spaces	3. Class of vehicle	4. Time of operation	5. Charging hours	6. Maximum stay	7. Scale of charges
Norwich Road Shoppers (Pay and Display)	78 marked bays including 5 Disabled bays and 2 free of charge 15 minute limited waiting bays	Up to 3500kg GVW	7 days per week. 24 hours per day.	08:00 to 20:00	24 hours (except for holders of a valid season ticket). Maximum stay in signed limited waiting bays during charging hours = 15 minutes with no return within 1 hour.	<p>Up to 30 minutes = £0.60 Up to 1 hour = £1.20 Up to 2 hours = £2.40 Up to 3 hours = £3.60 Up to 4 hours = £4.80 Up to 5 hours = £5.50 All day (up to 24 hours) = £6.20</p> <p>Disabled badge holders (every day) = 3 hours free parking using badge and disc in designated disabled space.</p> <p>Signed limited waiting bays (every day) = no charge for parking up to 15 minutes.</p> <p><u>Season tickets (only available to local residents or businesses within the zone shown in Schedule 5):</u></p> <p>12 months (valid Monday to Friday) = £1,160 12 months (valid all week) = £1,228 12 months (valid 18:00 to 08:00 Monday to Friday and all day on Saturdays, Sundays and Bank Holidays) = £307.</p>

1. Name of car park	2. Number of bays / spaces	3. Class of vehicle	4. Time of operation	5. Charging hours	6. Maximum stay	7. Scale of charges
Smart Street (Pay and Display)	21 marked bays (wide) including 1 Disabled bay	Up to 3500kg GVW	7 days per week. 24 hours per day.	08:00 to 20:00	17 hours. Maximum stay during charging hours = 5 hours. No return within 1 hour if doing so would exceed the maximum stay.	Up to 30 minutes = £0.60 Up to 1 hour = £1.20 Up to 2 hours = £2.40 Up to 3 hours = £3.60 Up to 4 hours = £4.80 Up to 5 hours = £5.50 Disabled badge holders = 3 hours free parking using badge and disc in designated disabled space.
Portman Road A (Pay and Display)	55 marked bays	Up to 3500kg GVW	7 days per week. 24 hours per day.	08:00 to 20:00	24 hours (multiple 24 hour stays allowed per all day ticket purchased and displayed) (except for holders of a valid season ticket)	Up to 1 hour = £1.20 Up to 2 hours = £2.40 Up to 3 hours = £3.60 Up to 4 hours = £4.80 Up to 5 hours = £5.50 All day (up to 24 hours) = £6.20 Pre-Paid All Day Ticket (up to 24 hours) = £5.90. <u>Season tickets:</u> 12 months (valid Monday to Friday) = £1,160 12 months (valid all week) = £1,228 12 months (valid 18:00 to 08:00 Monday to Friday and all day on Saturdays, Sundays and Bank Holidays) = £307.

1. Name of car park	2. Number of bays / spaces	3. Class of vehicle	4. Time of operation	5. Charging hours	6. Maximum stay	7. Scale of charges
Portman Road B (Pay and Display)	135 marked bays including 5 Disabled bays	Up to 3500kg GVW	7 days per week. 24 hours per day.	08:00 to 20:00	24 hours (multiple 24 hour stays allowed per all day ticket purchased and displayed) (except for holders of a valid season ticket)	Up to 1 hour = £1.20 Up to 2 hours = £2.40 Up to 3 hours = £3.60 Up to 4 hours = £4.80 Up to 5 hours = £5.50 All day (up to 24 hours) = £6.20 Pre-Paid All Day Ticket (up to 24 hours) = £5.90. <u>Season tickets:</u> 12 months (valid Monday to Friday) = £1,160 12 months (valid all week) = £1,228 12 months (valid 18:00 to 08:00 Monday to Friday and all day on Saturdays, Sundays and Bank Holidays) = £307.

1. Name of car park	2. Number of bays / spaces	3. Class of vehicle	4. Time of operation	5. Charging hours	6. Maximum stay	7. Scale of charges
Portman Road C (Pay and Display)	562 marked bays including up to 20 Disabled bays (4 permanent and 16 multi-use. Multi-use bays only in force as Disabled bays when relevant signage is displayed)	Up to 3500kg GVW	7 days per week. 24 hours per day.	08:00 to 20:00	24 hours (multiple 24 hour stays allowed per all day ticket purchased and displayed) (except for holders of a valid season ticket)	Up to 1 hour = £1.20 Up to 2 hours = £2.40 Up to 3 hours = £3.60 Up to 4 hours = £4.80 Up to 5 hours = £5.50 All day (up 24 hours) = £6.20 Pre-Paid All Day Ticket (up to 24 hours) = £5.90. <u>Season tickets:</u> 12 months (valid Monday to Friday) = £1,160 12 months (valid all week) = £1,228 12 months (valid 18:00 to 08:00 Monday to Friday and all day on Saturdays, Sundays and Bank Holidays) = £307.
Portman Road C (Pay and Display)	5 marked bays	Motor Cycles	7 days per week. 24 hours per day.	08:00 to 20:00	24 hours	Free of charge for motor cycles.

1. Name of car park	2. Number of bays / spaces	3. Class of vehicle	4. Time of operation	5. Charging hours	6. Maximum stay	7. Scale of charges
Portman Road D (Pay and Display)	26 marked bays	Up to 3500kg GVW	7 days per week. 24 hours per day.	08:00 to 20:00	24 hours (multiple 24 hour stays allowed per all day ticket purchased and displayed) (except for holders of a valid season ticket)	Up to 1 hour = £1.20 Up to 2 hours = £2.40 Up to 3 hours = £3.60 Up to 4 hours = £4.80 Up to 5 hours = £5.50 All day (up to 24 hours) = £6.20 Pre-Paid All Day Ticket (up to 24 hours) = £5.90. <u>Season tickets:</u> 12 months (valid Monday to Friday) = £1,160 12 months (valid all week) = £1,228 12 months (valid 18:00 to 08:00 Monday to Friday and all day on Saturdays, Sundays and Bank Holidays) = £307.

1. Name of car park	2. Number of bays / spaces	3. Class of vehicle	4. Time of operation	5. Charging hours	6. Maximum stay	7. Scale of charges
Princes Street (Pay and Display)	Up to 21 spaces including 4 Disabled bays	Up to 3500kg GVW	7 days per week. 24 hours per day.	08:00 to 20:00	24 hours (multiple 24 hour stays allowed per all day ticket purchased and displayed) (except for holders of a valid season ticket)	Up to 1 hour = £1.20 Up to 2 hours = £2.40 Up to 3 hours = £3.60 Up to 4 hours = £4.80 Up to 5 hours = £5.50 All day (up to 24 hours) = £6.20 Pre-Paid All Day Ticket (up to 24 hours) = £5.90. <u>Season tickets:</u> 12 months (valid Monday to Friday) = £1,160 12 months (valid all week) = £1,228 12 months (valid 18:00 to 08:00 Monday to Friday and all day on Saturdays, Sundays and Bank Holidays) = £307.

1. Name of car park	2. Number of bays / spaces	3. Class of vehicle	4. Time of operation	5. Charging hours	6. Maximum stay	7. Scale of charges
West End Road (Pay and Display)	Up to 385 spaces including 4 Disabled bays	Up to 3500kg GVW Maximum height = 2.1m/7'0"	7 days per week. 24 hours per day.	08:00 to 20:00	24 hours (multiple 24 hour stays allowed per all day ticket purchased and displayed) (except for holders of a valid season ticket)	Up to 1 hour = £1.20 Up to 2 hours = £2.40 Up to 3 hours = £3.60 Up to 4 hours = £4.80 Up to 5 hours = £5.50 All day (up to 24 hours) = £6.20 Pre-Paid All Day Ticket = £5.90. <u>Season tickets:</u> 12 months (valid Monday to Friday) = £1,160 12 months (valid all week) = £1,228 12 months (valid 18:00 to 08:00 Monday to Friday and all day on Saturdays, Sundays and Bank Holidays) = £307.
West End Road (Pay and Display)	1 marked bay providing 2 spaces	Motor Cycles	7 days per week. 24 hours per day.	08:00 to 20:00	24 hours	Free of charge for motorcycles.
West End Road (Pay and Display)	Up to 25 spaces	Coaches and motor-homes	7 days per week. 24 hours per day.	08:00 to 20:00	24 hours	All day (up to 24 hours) = £10.00

1. Name of car park	2. Number of bays / spaces	3. Class of vehicle	4. Time of operation	5. Charging hours	6. Maximum stay	7. Scale of charges
Bourne Park A	11 marked bays including 5 Disabled bays	Up to 3500kg GVW	7 days per week. 24 hours per day.	7 days per week. 24 hours per day.	10 hours (except for holders of a valid permit for this area). No return within 1 hour if doing so would exceed the maximum stay.	Free of charge.
Bourne Park B	Up to 30 spaces	Up to 3500kg GVW	1 st May to 31 st October inclusive every year: 7 days per week. 24 hours per day.	7 days per week. 24 hours per day.	10 hours. No return within 1 hour if doing so would exceed the maximum stay.	Between 1 st May and 31 st October inclusive every year = free of charge. Between 1 st November and 30 th April inclusive every year = no parking permitted at any time.
Christchurch Park (Disabled badge & permit holders only)	20 marked bays including 4 Disabled bays	Up to 7500kg GVW	7 days per week. 24 hours per day.	7 days per week. 24 hours per day.	3 hours (except for holders of a valid permit for this area)	Disabled badge holders = 3 hours free parking using badge and disc in designated disabled space. Permit holders = free of charge only for holders of a valid permit for that area.

1. Name of car park	2. Number of bays / spaces	3. Class of vehicle	4. Time of operation	5. Charging hours	6. Maximum stay	7. Scale of charges
Holywells Park (Disabled badge & permit holders only)	22 spaces including up to 16 Disabled spaces	Up to 7500kg GVW	7 days per week. 24 hours per day.	7 days per week. 24 hours per day.	3 hours (except for holders of a valid permit for this area)	Disabled badge holders = 3 hours free parking using badge and disc in designated disabled space. Permit holders = free of charge only for holders of a valid permit for that area.